
�����  3 

 

��	�ก����
�� 

 

 ก�������	
��
�	ก�����������������  (Survey  Research)  !
"#$%�����&'(�)*ก+�ก����,�$%-.�กก��
,��-��/'01�2!�"�!���3�/4ก��53��67�,#$%,��-��,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  >7�
2����0�8	7%�	
?����!
"�ก
"��ก�,��	!
"�67�,#$%,��-����,#�7�3,  :*"�&
#.;(3ก����,�$%!
"@;ก;(��ก�	  
@.6#.ก��7���	�	��	53�,��+�!��กก��8�%-.�กก��,��-��/'01�2!�"�!���3�/4ก��  
 

�������������ก����
�� 

 

������������������  (Primary  Data) 
 

5%3&$.
A&1$&�=7%��กก���กB,5%3&$.>7�8�%@,,�3,C�&  >7�#$%;3,@,,�3,C�&  /<3        
�67�,#$%,��-��,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  8	;��@-	(�#$%,��-��  #$%3��	��ก��DE��           
#$%��7ก���(�	  @.6#$%��7ก��@#	ก 

 
������������)*������  (Secondary  Data) 

 

5%3&$.!';��1$&�=7%��กก��)*ก+�  ��,��&  ��ก-	���<3  ������  ,!/��&  �3ก���           
�����	ก�������!
"�ก
"��ก�,ก����,�$%-.�กก��,��-��/'01�2!�"�!���3�/4ก��  ��&!��������	
�6���
F
53�,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  @.6��B,=:;4!
"�ก
"��5%3� 

 

��12�ก���1ก�)��*������� 

 

��12�ก� 

 

 
�6��ก�8	ก�������/����	
�  /<3  �67�,#$%,��-��,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4
=!�  :*"�5%3&$.��กDE��,'//.  ,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  2,�(�  ���	�	       

�6��ก�!���-&7�!(�ก�,  987  /	   
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;����!
" 2  5	�753�
�6��ก�  @.6�%3�.6  ���@	ก;�&;��@-	(���	 
 

*3������ ��12�ก�  (4�) �����1 

#$%,��-�� 
#$%3��	��ก��DE�� / #$%��7ก���(�	 
#$%��7ก��@#	ก 

17 
131 
839 

1.72 
13.27 
85.01 

��� 987 100.00 

!
"&�: DE��,'//.  ,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�, 2548  @.6��กก��/��	�0 
 
ก�)��*������� 

 
 ก��)*ก+�5%3&$.�ก
"��ก�,ก����,�$%53��67�,#$%,��-��,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3           
:��&	;4=!�  >7��กB,5%3&$.�T2�6;��@-	(�#$%,��-��  #$%3��	��ก��DE��  #$%��7ก���(�	  @.6#$%��7ก��
@#	ก  :*"��
�	�67�,#$%,��-��53�,��+�!�(3�8	ก.'(&9'�ก��:��&	;4  ���	�	  8  @-(�  =7%@ก( 
 
 1.  ,��+�!
$	:��&	;4=!�  (!(�-.��)  ���ก�7 
 2.  ,��+�!
$	:��&	;4=!�  (@ก(�/3�)  ���ก�7 
 3.  ,��+�!
$	:��&	;4=!�  (!'(���)  ���ก�7 
 4.  ,��+�!
$	:��&	;4=!�  (.��
��)  ���ก�7 
 5.  ,��+�!���&
$	:��&	;45��  ���ก�7 
 6.  ,��+�!���&&3�4;��4  ���ก�7 
 7.  ,��+�!#.�;1�0V4@.6��;C'ก(3��%��  ���ก�7 
 8.  ,��+�!���&3';��-ก��&���7'!	=W  ���ก�7 

 
 ก��/��	�05	�753�ก.'(&;��3�(��53�
�6��ก�  >7�  (2����;	4, 2531)   
 

 �$;�    
21 Ne

N
n

+

=  

 
 >7�   n       =    5	�753�ก.'(&;��3�(�� 
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    N      =   5	�753�
�6��ก�  �!(�ก�,  987  /	 
  e       =     /��&/.�7�/.<"3	53�ก���'(&;��3�(��  ก��-	7�!(�ก�,  0.05 
 
�&<"3/��	�0;�&�$;�7��ก.(��  �6=7%ก.'(&;��3�(���!(�ก�,  285  /	  �*�=7%��7!��@,,�3,C�&

!������	  350  �'7  �2<"3�กB,5%3&$.ก�,�67�,#$%,��-��53�,��+�! 
 

*���������2���ก����
�� 
 
 1.  ;��@
�;%	-�<3;��@
�3���6  (Independent  Variables)  8	ก��)*ก+�
?����!
"&
#.;(3
ก����,�$%-.�กก��,��-��/'01�2!�"�!���3�/4ก��53��67�,#$%,��-��  =7%@ก(  ;��@-	(���	             

�6�,ก��04ก��!����	  @.6@-.(�5%3&$.   
 
 2.  ;��@
�;�&  (Dependent  Variables)  8	ก��)*ก+�
?����!
"&
#.;(3ก����,�$%-.�กก��
,��-��/'01�2!�"�!���3�/4ก��53��67�,#$%,��-��  =7%@ก(  �67�,ก����,�$%-.�กก��,��-��/'01�2   
!�"�!���3�/4ก��53��67�,#$%,��-��   
 

;4�<����<�����2���ก����
�� 

 

 8	ก�������/����	
�  8�%@,,�3,C�&�
�	�/�<"3�&<38	ก���กB,5%3&$.��ก�67�,#$%,��-��8	
;��@-	(�#$%,��-��  #$%3��	��ก��DE��  #$%��7ก���(�	  @.6#$%��7ก��@#	ก  ,��+�!8	ก.'(&9'�ก��:��&	;4  
�/�<3:��&	;4=!�  ���	�	  8  @-(�  @.6���/��6-45%3&$.>7�8�%>
�@ก�&�����B��$
!���C�;�  >7�           
@,,�3,C�&@,(��
�	  2  �(�	  7��;(3=
	
� 
 
=������  1  ����������>�;ก����ก��?��*�����=��@�� 

 

 
�6ก3,7%��/��C�&
.��
d7  ���	�	  7  5%3  >7�/��C�&�
�	@,,;����3,���ก��  
(Check g list)  >7�8-%�.<3ก;3,�2
��5%3.6  1  /��;3,�!(�	��	  �2<"3�กB,5%3&$.!�"�=
�ก
"��ก�,#$%;3,
@,,�3,C�&  :*"��
�	5%3&$.!
"�ก
"��ก�,��	!
"#$%;3,@,,�3,C�&��,#�7�3,  =7%@ก(  ;��@-	(���	         

�6�,ก��04ก��!����	  �6�6��.�!
",��+�!	��-.�กก��,��-��/'01�2!�"�!���3�/4ก��&�8�%  �-;'#.
!
",��+�!	��-.�กก��,��-��/'01�2!�"�!���3�/4ก��&�8�%  @-.(�!
"&�53�/��&�$%�ก
"��ก�,-.�กก��
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,��-��/'01�2!�"�!���3�/4ก��  @.6/��&/�7�-B	�ก
"��ก�,�67�,ก����,�$%-.�กก��,��-��/'01�2    
!�"�!���3�/4ก��53�#$%;3,@,,�3,C�&�3�  ��&!���#$%8;%,��/�,,�h��53�;	 
 
=������  2  ������;ก����ก��ก�����������กก��������4)B��C������D���4Eก�����?�������� 

 

 
�6ก3,7%��/��C�&
.��
d7  ���	�	  26  5%3  >7�/��C�&�
�	@,,&�;���7  (Scale)  >7�
@,(�33ก�
�	  3  �67�,  /<3  �-B	7%��  �T�  i  @.6=&(�-B	7%��  @.68-%�.<3ก;3,�2
��5%3.6  1      
/��;3,�!(�	��	  �2<"3�กB,5%3&$.�ก
"��ก�,ก����,�$%-.�กก��,��-��/'01�2!�"�!���3�/4ก��53��67�,         
#$%,��-��,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�   
 
 >7�/��C�&��&��C@,(��
�	-&�7�(3�  i  =7%  3  -&�7  ;�&-.�กก��!
"���/�h53�ก��
,��-��/'01�2!�"�!���3�/4ก��  
�6ก3,7%�� 
 
 1.   ก���)��;������4���=3�4�Fก����ก4��  ���	�	  6  5%3  =7%@ก(  5%3  10  11  18  19  26  @.6  
27 
 
      1.1  5%3  10  TQM  �
�	>
�@ก�&!
"�(��8	ก��
��,
�'�/'01�2#.�;1�0V4 
 
      1.2  5%3  11  ก��
m�,�;���	;�&-.�กก��53�  TQM  &
�(�	�(��
��,
�'�/'01�253�
#.�;1�0V48-%7
5*�	 
 
      1.3  5%3  18  TQM  �
�	>
�@ก�&!
"8�%
�6�&�	#.ก��7���	�	��	53�:�22.���33�4 
 
      1.4  5%3  19  ก��
m�,�;���	;�&-.�กก��53�  TQM  !��8-%ก��
�6�&�	#.ก��          
7���	�	��	53�:�22.���33�4&

�6��!9�1�2&�ก5*�	 
 
      1.5  5%3  26  TQM  �(��8-%�<"3��
��53�,��+�!�
�	!
"�$%��ก@.6�
�	!
"�3&��,53�.$ก/%� 
 
      1.6  5%3  27  ก��
m�,�;���	;�&-.�กก��53�  TQM  !��8-%�<"3��
��53�,��+�!�
�	!
"�$%��ก
@.6�
�	!
"�3&��,53�.$ก/%� 
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 2.   ก��������)�ก�1���ก���3����  ���	�	  12  5%3  =7%@ก(  5%3  8  9  12  13  16  17  24  
25  28  29  32  @.6  33 
 
       2.1  5%3  8  TQM  �
�	�/�<"3�&<3!
"�(��.7;%	!'	53�,��+�! 
 
       2.2  5%3  9  ก��
m�,�;���	;�&-.�กก��53�  TQM  �(��.7;%	!'	53�,��+�!=7% 
 
       2.3  5%3  12  TQM  �
�	�/�<"3�&<3!
"�(��8-%ก��/�7�.<3ก2	�ก��	�5%�!����	&
              

�6��!9�1�2&�ก5*�	 
 
       2.4  5%3  13  ก��
m�,�;���	;�&-.�กก��53�  TQM  �(��8-%ก��/�7�.<3ก2	�ก��	�5%�
!����	&

�6��!9�1�2&�ก5*�	 
 
       2.5  5%3  16  TQM  �(��8-%ก��Dnก3,�&2	�ก��	&
/��&�67�ก&�ก��"�5*�	 
 
       2.6  5%3  17  ก��
m�,�;���	;�&-.�กก��53�  TQM  �(��8-%ก��Dnก3,�&2	�ก��	&

/��&�67�ก&�ก��"�5*�	 
 
       2.7  5%3  24  TQM  �(��.7
��&�053���
�@.6;%	!'	��	/%�/�/.�� 
 
       2.8  5%3  25  ก��
m�,�;���	;�&-.�กก��53�  TQM  &
�(�	�(��8	ก��.7
��&�0    
53���
�@.6;%	!'	��	/%�/�/.�� 
 
       2.9  5%3  28  TQM  !��8-%�ก�7ก��
�6-��7;(35	�7&�ก5*�	 
 
       2.10  5%3  29  ก��
m�,�;���	;�&-.�กก��53�  TQM  !��8-%�ก�7ก��
�6-��7;(35	�7
&�ก5*�	 
 
       2.11  5%3  32  TQM  !��8-%�6,,5	�(���	/%�&

�6��!9�1�2&�ก��"�5*�	 
 



 81

       2.12  5%3  33  ก��
m�,�;���	;�&-.�กก��53�  TQM  �(��8-%�6,,5	�(���	/%�&
      

�6��!9�1�2&�ก��"�5*�	 
 
 3.   ก������)ก4���=�������  ���	�	  8  5%3  =7%@ก(  @,,�3,C�&5%3  14  15  20  21  22  
23  30  @.6  31 
 
       3.1  5%3  14  TQM  �
�	>
�@ก�&!
"8�%8	ก����7ก��/'01�2>7���&53�,��+�! 
 
       3.2  5%3  15  ก��
m�,�;���	;�&-.�กก��53�  TQM  �(��8-%ก����7ก��/'01�2>7���&
53�,��+�!7
5*�	 
 
       3.3  5%3  20  TQM  �
�	�/�<"3�&<3!
"�(��8	ก�����@#	ก��#.�; 
 
       3.4  5%3  21  ก��
m�,�;���	;�&-.�กก��53�  TQM  !��8-%ก�����@#	ก��#.�;&
     

�6��!9�1�2&�ก5*�	 
 
       3.5  5%3  22  TQM  �(��8-%ก��
m�,�;���	53�2	�ก��	&
/��&�<7-�'(	&�ก��"�5*�	 
 
       3.6  5%3  23  ก��
m�,�;���	;�&-.�กก��53�  TQM  !��8-%2	�ก��	&
/��&�<7-�'(	&�ก
��"�5*�	 
 
       3.7  5%3  30  TQM  �
�	7��	
�
���7#.ก��7���	�	��	53�,��+�! 
 
       3.8  5%3  31  ก��
m�,�;���	;�&-.�กก��53�  TQM  �ก�7��กก��ก��-	78-%  TQM  �
�	
7��	
�
���7#.ก��7���	�	��	53�,��+�! 
 

ก���G=��;4�<����<�����2���ก����
�� 

 

 ก�������	
�8�%�/�<"3�&<38	ก�������  /<3  @,,�3,C�&  ก��!7�3,�/�<"3�&<3!��5*�	�2<"3
���/��6-4-�/(�/��&�!
"��;��  (Validity)  @.6/��&��<"3&�"	  (Reliability)  53�@,,�3,C�&  7��	
� 
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1.  ก����4��4���;�����*��  (Validity)   
 
 -.����ก33ก@,,�3,C�&��
�,�%3�@.%�  =7%	��@,,�3,C�&=
��	3;(3
�69�	
ก��&ก��!
"
�*ก+�@.6ก��&ก��!
"
�*ก+�  �2<"3;����3,/��&C$ก;%3�;�&�	<�3-�  (Content  
Validity)  �(�;��;�&��;C'
�6��/453�ก�������8	/����	
�-�<3=&(  @.6	��@,,�3,C�&=
��	3;(3
)$	�4�(�����&/'01�2��	  !
"&
-	%�!
">7�;��8	ก������6,,ก��,��-��/'01�253��/�<3:��&	;4
=!�  �2<"3;����3,/��&�-&�6�&53�/��C�&3
ก/����-	*"�  -.����ก	��	  �*�	��&�@ก%=5@.6          

��,
�'��2<"37���	�	ก��8	5��	;3	;(3=
 
 
2.  ก����4��4���;2<������  (Reliability)   

 

 @,,�3,C�&!
"#(�	ก��;����3,@.6@ก%=5@.%�  	��=
!7�3,ก�,ก.'(&;��3�(��!
"&

.�ก+06�7
��ก�,ก.'(&
�6��ก�!
"!��ก�������  ���	�	  30  �'7  ��ก	��	  �*�8�%>
�@ก�&�����B��$
!��
�C�;�/��	�0/(�/��&��<"3&�"	53�@,,�3,C�&  >7���9
-�/(���&
�6��!9�p@3.W�53�/�3	,�/  
(Cronbachqs  Alpha  Coefficient)  =7%/(�3�.W�  �!(�ก�,  0.8208  :*"�>7�!�"�=
	��	  /(�3�.W�/��&
/(�
;���@;(  0.75  5*�	=
  7��	��	  �*�C<3�(�@,,�3,C�&�'7	
�&
/(�/��&��<"3&�"	!
"�-&�6�&  @.6	��=
8�%
8	ก�������=7% 
 

ก��;กL������������� 

 

 !��ก���กB,5%3&$.��ก,��+�!�(3�!���  8  @-(�  >7�ก���'(&;��3�(����กก.'(&
�6��ก�!���-&7  
=7%ก.'(&;��3�(��  /<3  �67�,#$%,��-��8	;��@-	(�#$%,��-��  #$%3��	��ก��DE��  #$%��7ก���(�	  @.6        
#$%��7ก��@#	ก  ���	�	!������	  285  /	 
 

ก���กB,��,��&5%3&$.��ก@,,�3,C�&8	ก�������/����	
�  !��ก����7�(�@,,�3,C�&>7�
	��@,,�3,C�&=
�<"	7%��;	�3�  !
"DE��,'//.53�,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  
�2<"3ก�6���=
���,��+�!�(3�@;(.6@-(�  @.6DE��,'//.�
�	#$%
�6��	��	  ��&!����กB,��,��&@,,
�3,C�&/<	8-%  >7�=7%��7!��@,,�3,C�&!������	  350  �'7  �2<"3�กB,5%3&$.ก�,�67�,#$%,��-��53�
,��+�!  :*"�=7%@,,�3,C�&ก.�,/<	!������	  ���	�	  316  �'7  /�7�
�	�%3�.6  90.29 
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ก����;4��1�E������ 

 
 ก�����/��6-45%3&$.!
"=7%��กก��;3,@,,�3,C�&53�ก.'(&;��3�(��  �68�%��9
ก�����/��6-4
7%��>
�@ก�&�����B��$
!���C�;�  �2<"3
�6&�.#. 
 
=@�*�����2���ก����;4��1�E������ 
 
 1.  ก�����/��6-45%3&$.!�"�=
�ก
"��ก�,#$%;3,@,,�3,C�&  =7%@ก(  ;��@-	(���	           

�6�,ก��04ก��!����	  �6�6��.�!
",��+�!	��-.�กก��,��-��/'01�2!�"�!���3�/4ก��&�8�%  �-;'#.
!
",��+�!	��-.�กก��,��-��/'01�2!�"�!���3�/4ก��&�8�%  @-.(�!
"&�53�/��&�$%�ก
"��ก�,-.�กก��
,��-��/'01�2!�"�!���3�/4ก��  @.6/��&/�7�-B	�ก
"��ก�,�67�,ก����,�$%-.�กก��,��-��/'01�2!�"�
!���3�/4ก��53�#$%;3,@,,�3,C�&�3�  ��&!���#$%8;%,��/�,,�h��53�;	  >7�8�%�C�;�ก��@�ก@��
/��&C
"  (Frequency)  @.6/(��%3�.6  (Percentage) 
 
 2.  ก�����/��6-4�67�,ก����,�$%-.�กก��,��-��/'01�2!�"�!���3�/4ก��53��67�,#$%,��-�� 
53�,��+�!8	ก.'(&9'�ก��:��&	;4  �/�<3:��&	;4=!�  >7�8�%�C�;�/(��T.
"��.5/0�;  (Mean)  @.6         
�(�	�,
"���,	&�;�A�	  (Standard  Deviation: S.D.)  ก��8-%/6@		�67�,/��&/�7�-B	  �
�	7��	
� 
  
      5%3/��C�&!
"�
�	����,�ก  (Positive)  :*"�=7%@ก(  5%3  8  9  10  11  14  15  18  19  20  21  
24  25  26  27  28  29  32  @.6  33  8-%/6@		7��	
� 
 
                   �-B	7%��  8-%   3   /6@		    
      =&(@	(8�  8-%   2   /6@		    
      =&(�-B	7%��  8-%   1   /6@		    
 
       /��C�&!
"�
�	����.,  (Negative)  :*"�=7%@ก(  5%3  12  13  16  17  22  23  30  @.6  31  8-%
/6@		7��	
� 
 
                    �-B	7%��  8-%   1   /6@		    
       =&(@	(8�  8-%   2   /6@		    
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       =&(�-B	7%��  8-%   3   /6@		    
 
        ��ก	��	  	��&���7.��7�,53��67�,ก����,�$%-.�กก��,��-��/'01�2!�"�!���3�/4ก��;�&
�ก0V4ก��8-%/6@		  7��	
� 
 
       2����   =   /6@		�$��'7 g /6@		;"���'7  
                                   ���	�	5��	 
 
       8	!
"	
�  ;%3�ก�����	�	5��	!���-&7  5  5��	  7��	��	  �&<"3@!	/(�.�8	�$;�  �6=7%/(�2����
�!(�ก�,  0.4  @.6=7%ก��-	7�ก0V4ก��8-%/6@		  �
�	7��	
� 
 
      2.61 g 3.00  -&��C*�  &
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